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This is how it is written in older texts...

Overview

The &7 cites a Xn*12 but does not specifically state which view is rejected by this
Xn»12. There are also differing texts how the X713 responded to this question and
how it elaborated on this Xn»92. Our Md0IN offers two NIRDI.

- 25%ANY 1Y)
And this Xn™72 presents a difficulty according to »ax —

mooIn continues with the X073 of the s'& M2 answer according the o°1w° 02190:
= 5759 PPN 0792 N2 ‘NNN N2 ONY I9ND INAY 123 3XIN

The X3 answered; here too it is a case where they both came to dig
simultaneously. The X723 continues, and it was necessary to mention that it was

earth which crumbles easily in one’s hand. nson continues with the X073 of the 0190
W -

- 19 ¥PUN NP 290 NNN SPA%Y D192 NAT 119 NN TNYT NPYD
For I may have thought that since it is 2792 X2, it should required a greater

spacing (more than three 2°19v), the Xn»72 therefore informs us that three oomow is

sufficient. This concludes the 809°) of the n°w° 0>dO -
= 602753 NaM DIV NYPN KDY YINY NPT TPIVPN D793 NI YPIDOND 7298 NPN NY XYM

And now, according to this X073, it was not necessary to conclude with the
clarification that '7%% 797w3°X 2°7°2 K2', for there was no question on »ax, based

on 2%7°2 N2, which the Xn»"2 stated -
= 1Y Y991 NN ONINT 2IN NIN

Rather since the X773 cited the Xn93, it chose to explain it; why mention o722 x2.

! The n"a7 N amends this to read »2ax% Awp) w7 (instead of »ax? Awp). Moo learns that the question is on ax.
2 The ’n™2 clearly states that each one (even the first one) is required to distance himself three o°nov from the property
line, while according to »ax the first one may dig adjacent to the property line without distancing.. The X773 assumed
that this law of distancing three o°ndv is universally true whether it is 2°7°2 X2 or not.
3 This is not like our X073 in the X723 and *"wA, where the answer is that 3w 272 X2, only then is a 7pn77 required
for the first person. See *"w" how he explains the question of 121 *Xp7 and VXK 2°7°2 R2.
4 This answers the question on »2x, and there is no need to elaborate further (as far as the question on »ax is concerned).
Nevertheless (as mo01n will point out shortly), the X713, since it cited this Xn>13, finds it necessary to explain it.
5> Seemingly this rule that each one must distance three o°mou (if X"22 MoOAY 1R2) is applicable in all situations, why
does the &n172 mention 0°7°2 X277 ¥70?!
¢ See end of footnote # 2.
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Moo present an alternate X071
= N9 7999 XD ©192 N2 XD XN D792 N2AT NNOYL 0T 02990 U

And there are some texts that read; the reason we require distancing is since it is
2°7°2 X2 (crumbling earth) but if it would not be 29753 X2 there is no need for

distancing (for the first person); and the X773 is challenging X239 according to this X0 -
= 99191 7150 PHVYN D72 NI D752 N2 NI 199N 1271 NIN 2IWnN)

And the X713 answers on behalf of X217, ‘the same rule of distancing would apply

even if it was 2972 X2 X, but it was necessary for the Xn»92 to teach 29773 X3, etc.’
that even by 0°7°2 X2 three o°mdv are sufficient.

moon offers conflicting views regarding differentiating between 0°7°2 X2 and 2°7°2 X2 RY:
- 8092 N2 XD 193) D752 N2 122 TINIOY 901 1Py PUNY 0N 19399 NN PN

And the n'9 does not see any difference regarding permission to be 920,

whether it is 2°7°2 X2 or whether it is not 27792 X2 -
- 99%9Y PYNY NI PNYS 135299

However the >''1 sees sufficient reason to properly distinguish between the two:
= 1107 90N 02792 N22 TINI0Y YV D793 N NDT 2) Uy GNT

That even though that by 2°7°2 82 X% it is permitted 710%, nevertheless by N2
2772 it is TR MMoN -

$99%20 ATV HY ¥PP N9 NYTANN YPIPIVY 29Y
Because as soon as you start digging the earth cracks and his friend’s land caves
in.

Summary
According to the 21w 0190 the question is on **aX and the discussion why mention

0’72 X2 is ancillary. According to the 0°790 w° the question is on X217 and the
discussion of 2°7°2 X2 is central. The >"71 0" dispute whether there is a difference
regarding 707 between 0°7°2 X2 and 2°7°2 X2 K5,

Thinking it over
1. The n"1 writes that 2°7°2 X2 X7 1°21 2°7°2 X2 12 191 o092 801 1X; however in the

7 According to this X0 it was necessary for the X773 to explain the 0772 X3; otherwise there would be a question on
N2A.
8 The n"1 is negating the previous X073 which inferred that by 2°7°2 X2 X% it is 7707 71mn. According to the n" if it is
T1m0% ann (like »2aR) it is always 702 7mn (even if it is 2°7°2 X2) and if it is not 7107 N it is never TMO? N (even
if it is 0>71°2 82 RY). Therefore since the Rn*11 states P> (by 0°7°2 R2), it inevitably means that it is always 71107 110K.
See ‘Thinking it over’.
9 The >"1 (seemingly) supports the X073 of the 2190 .
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X3 we see clearly that there is a X720 to differentiate between 0°7°2 X2 X9, where
three 0noY are sufficient, and 0°7°2 X2 where I may have assumed that more than
three o°now are required. How can we reconcile the n"1 with our x23.1°

2. Should we assume that the n"- agrees with the 0°1w> 0790 and the *"7 agrees with
the o190 W°?

3. The &7m3 offers two reasons why X237 maintains 71102 0K, either because °3°7 °2
1271 M1 RIR 101 oMK NRT, or RYIRY 72 n°97n "1 & 95, Can we apply these two
reasons respectively to the Mwvw of the "1 and the >"1?

10 See X"wnmn.
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